2 KiESER DOKE R
(11) 4 % U =K
(1) BLS K OV E A
O A&V —/KIE
£ 7K H A 157K IE 275 /KR 35 KR 455 7K IR
23 7K T H H H28.8.2 H28.8.2 H28. 8. 2 H28.8. 2
BN f & = s i
= ik (‘C) 23.0 23.0 23.9 23.2
7K iR (‘C) 22.0 21.9 19.6 17.5
— LIk il (f# /mL) 0 5 5 1
X W% (MPN/100mL) 0 0 1 0
i fi 043 HE = = (mg/L) <0. 004 <0. 004 <0. 004 <0. 004
MM ERZ N OHE B EZE R (mg/L) 0.27 0.25 0. 30 0. 34
7 v F Kk XX EZF 0 b AW (mg/L) <0. 08 <0. 08 <0. 08 <0. 08
[ N VA O N /) B /A< .7 (mg/L) <0. 005 <0. 005 <0. 005 <0. 005
% & W o b A& W (mg/L) <0.01 <0.01 <0.01 0. 01
~ v H vk E O EWY (mg/L) <0. 005 <0. 005 <0. 005 <0. 005
e s W A 7 N (mg/L) 10 6.4 4.7 3.9
I Th, TR LE GEE) (mg/L) 200 200 100 54
HHY (& fF KR E (00 O i) (mg/L) 0.1 0.1 <0. 1 0.1
p H e 6.5 6.5 6.4 6.5
= ! HEnL HBEnL HBERL HBERL
&) i3 (%) 0.5 0.5 0.5 0.5
) B () <0. 1 <0. 1 0. 1 0. 1
B O ® E (T O N ) <1 1 <1 <1
s & * = A (fi# /mL) 5 52 44 7
X % . (MPN/100mL) 35 51 36 5
7 . E = 7 & = * (mg/L) <0. 02 <0. 02 <0. 02 <0. 02
it [ 4 7 N (mg/L) 140 140 76 36
5 = i i R (mS/m) 43.9 44. 4 26.3 15.3
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55 7KIR 65 7KIR 15 7KIR 8-E/KIR
H28. 8. 2 H28. 8. 2 H28. 8. 2 H28. 8. 2
& £ i I
24.6 24.1 25. 2 25.6
17.0 17.1 14. 4 14.1
1 7 2 1
1 0 0 0
<0. 004 <0. 004 <0. 004 <0. 004
0. 39 0. 37 0.22 0.33
<0. 08 0.08 <0. 08 <0. 08
<0. 005 <0. 005 <0. 005 <0. 005
<0.01 <0. 01 <0.01 <0.01
<0. 005 <0. 005 <0. 005 <0. 005
4.2 4.1 3.5 4.2
68 81 56 54
0.1 <0.1 0.1 0.1
6.5 6.8 6.1 6.3
Bl Bl Bl E Y.t/
0.5 0.5 0.5 0.5
0.1 0.1 0.1 0.1
<1 <1 <1 <1
29 43 25 9
31 240 17 4
0. 02 <0. 02 <0. 02 0. 02
45 54 47 42
17.9 25. 8 16.3 15. 6
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2

KB it 3¢ D K A

(11) 457 J — K

(1) B O E R A
@ _JFUk

£ 7K F H H H28.4.5  H28.5.10 H28.6.7 | H28.7.5 | H28.8.2
X i i i) & & &
= iR (‘C) 9.6 18.7 17.6 20. 2 25.0
7K =) (‘C) 17.6 17.5 17.7 17.8 18.2
— LIk il (f# /mL) 0 0 0 0 1
X W (MPN/100mL) 0 1 1 1 0
BRI AEETZEONLEDY (mg/L) — — — — —
KB K O F o b A& W (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005 <0.00005
L v Kk Y E O AWY (mg/L) — — — — —
m K O o b A& W (mg/L) — — — — —
t # K X 2 o A W (mg/L) — — — — —
A A - N (mg/L) — — — — —
i fid [0 15 = % (mg/L) <0. 004 — — <0. 004 —
T A A A R T (mg/L) — — — — —
HHREEELOCEHMBESE R (mg/L) 0.31 — — 0.32 -
7 v F K O ZF 0 b AW (mg/L) <0. 08 — — <0. 08 —
U #E K X EF 0 L A& W (mg/L) — — — — —
| % e % ES (mg/L) — — — — —
1, 4- D 7 X A N (mg/L) — — — — —
vZA-l,2-Y /7 mvuxxF Ly g
NS A-1,2-YV 7 v F Ly (mg/L) — - — — —
DA = = A V4 NG (mg/L) — — — — —
> K % Z/ wonmn T F L v (mg/L) — — — — —
YU / w onmr = F L v (mg/L) — — — — —
~ N + N (mg/L) — — — — —
% F 13 (mg/L) - - - - -
7 = = i3 1S (mg/L) - - - - -
7 =i (=] N JL N (mg/L) — — — — —
Y 7 = = i3 1 (mg/L) — — - - -
Y 7 m &y v oua A K v (mg/L) — — — — -
B F 1 (mg/L) — - — — —
wWoor U N m A B (mg/L) - - - - -
k ) v = =S (3 (mg/L) — — - - -
7 m E Y 7 v owu XK v (mg/L) - - - - -
=7 o = N JL A (mg/L) — — — — —
A A A T A F v K (mg/L) — — — — -
mo k™ o A W (mg/L) <0. 005 — — <0. 005 -
TNI=U ARV ZEDONLEY (mg/L) - - - — —
% K O 2 o b A& W (mg/L) <0.01 — — <0.01 —
i Kk X = o v A& W (mg/L) — — — — —
F PV U ARV EDOILAW (mg/L) — — — — —
~ v H vk E O E W (mg/L) <0. 005 — — <0. 005 —
oy 1k L) 4 7 N (mg/L) 4.6 — — 4.5 —
HNT T A, TR N (R E) (mg/L) 100 — — 96 -
7% S J23 B W (mg/L) — — — — —
b2 4 A& v K om & A (mg/L) - - - — —
b4 = + A 2 v (mg/L) - — — — _
2- A F v A4 VKRV R AF — L (mg/L) — — — — —
¥ A4 F v R om % A (mg/L) — — - — —
7 - / — v ¥H (mg/L) — — — — —
H Y (&A% K FE (T0C) © &) (mg/L) 0. 1 0. 1 0. 1 0. 1 0. 1
D H s 6.6 6.5 6.5 6.7 6.5
% _ _ _ _ _
B X el BERL BEALL HEEARL BESZL
[ JE3 i) <0.5 <0.5 <0.5 <0.5 <0.5
) 3 () 0. 1 0.1 0.1 0. 1 0. 1
J53 B H ES (mg/L) — — — — —
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H28.9.6 | H28.10.4 | H28.11.8 | H28.12.6 | H29.1.10 | H29.2.7 | H29.3.8 K [l St
£ i & i & I i —
22.5 22.4 9.3 10.2 5.5 2.3 1.8 25.0 1.8 13.8
17.6 17.6 17.3 17.7 17.5 17.7 17.5 18.2 17.3 17.6
0 1 6 2 0 2 6 0 1
0 0 0 0 0 0 2 2 0 0
<0. 0003 — — <0. 0003
<0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
— <0. 001 — — — — — — — <0. 001
— <0. 001 — — — — — — — <0.001
— <0.001 — — — — — — — <0.001
— <0. 005 — — — — — — — <0. 005
— <0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004
— <0. 001 — — — — — — — <0. 001
— 0.34 — — 0.31 — — 0.34 0.31 0.32
— <0. 08 — — <0. 08 — — <0. 08 <0. 08 <0. 08
— 0.04 — — — — — — — 0.04
— <0.0001 — — — — — — — <0.0001
— <0. 001 — — — — — — — <0. 001
—| <0.0002 — — — — — — —|<0.0002
— | <0.0001 — — — — — — — | <0.0001
— | <0.0001 — — — — — — — | <0.0001
— | <0.0001 — — — — — — — | <0.0001
— | <0.0001 — — — — — — — | <0.0001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— 0. 01 — — — — — — — 0. 01
— <0.01 — — <0.01 — — <0.01 0. 01 <0.01
— <0.01 — — — — — — — <0.01
— 7.9 — — — — — — — 7.9
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— 4.1 — — 4.4 — — 4.6 4.1 4.4
— 69 — — 100 — — 100 69 91
— 164 — — — — — — — 164
— <0.01 — — — — — — — <0.01
— | <0. 000001 — — — — — — — | <0. 000001
— | <0. 000001 — — — — — — — | <0. 000001
— <0. 005 — — — — — — — <0. 005
—|  <0.0005 — — — — — — —|  <0.0005
0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
6.4 6.5 6.5 6.5 6.6 6.6 6.6 6.7 6.4 6.5
HBEzaL BEeL BEeL BERL OREEARL BELL BERL L
0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
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2 JKIEGERDOKEMRE
(11) A% VU =K%
(1) BELS K OV E A
@ _JFUk

£ 7K F H H H28.4.5  H28.5.10 H28.6.7 | H28.7.5 | H28.8.2
T FE R DT ONEW (mg/L) - - - - -
7 7 v K N E O LA W (mg/L) — — — — —
= v FH NV E®ZE DOIEYW (mg/L) — — — — —
L2- ¥ 7 m v = X v (mg/L) — — — — —
~ L - N (mg/L) — — — — —
TENLEEY (- F )L~ F ) (mg/L) — — — — —
i #H F# i (mg/L) — — — — —
Y 7/ v nmn 7k b= F1U b (mg/L) — — — — —
ok 7 a7 — ) (mg/L) — — — — —
2 3K G| — — — — —
bl At R i3 (mg/L) — — — — —
LL1- YU 7 B mwr T X v (mg/L) — — — — —
A F ) —-t- 7 F )L = — 5 )L (MTBE) (mg/L) — - - - -
B 5 #® E (T O N ) ¢! ¢! ¢! <1 <1
BaEt (7 47 U 74 %) — — — — —
1€ & g = gl (f# /mL) 12 7 7 6 61
L1- ¥ Z/ mw wmw = F L v (mg/L) — — — — —
23 = Pk i il (MPN/100mL) — — — — —
£ Wb B FEE K & (mg/L) — — — — —
b 17 i3 ES (mg/L) — — — — —
v - I v o (MPN/L) 0 0 0 0 0
I X s 3 il (MPN/L) — — — — —
X % . (MPN/100mL) 19 19 5 22 58
#F O M E B R (MPN/100mL) — — — — —
7 v ® = 7 & = # (mg/L) <0. 02 — — <0. 02 —
il % N 4 VN (mg/L) — — — — —
~ 7 ES > 7 VN (mg/L) — — — — —
fitt iz A 7 N (mg/L) 73 — — 73 —
AN = I S - A - (mg/L) — — — — —
#a 7 Ju ol Y 3 (mg/L) — — — — —
B = = = R (mS/m) 23.9 22.2 21.6 21.9 22. 1
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H28.9.6 |« H28.10.4 | H28.11.8 | H28.12.6  H29.1.10 @ H29.2.7 H29.3.8 TN /) LY

— <0. 0002 — — — — — — <0. 0002
— <0. 0002 — — — — — — <0. 0002
— <0.001 — — — — — — <0.001
— <0. 0001 — — — — — — <0. 0001
— <0. 0001 — — — — — — <0. 0001
— <0. 001 — — — — — — <0. 001
— <0. 001 — — — — — — <0. 001
— 25 — — — — — — 25
— <0. 0001 — — — — — — <0. 0001
— <0. 0001 — — — — — — <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1
— —2.1 — — — — — — —2.1
8 6 21 11 8 9 61 6 14
— <0. 0001 — — — — — — <0. 0001
— 0 — — — — — — 0
0 0 0 0 0 0 0 0 0
— 8 — — — — — — 8
5 6 89 29 9 23 89 1 24
— 0 — — — — — — 0
— <0.02 — — <0.02 — <0.02 <0.02 <0.02
— 17 — — — — — — 17
— 5.5 — — — — — — 5.5
— 47 — — 74 — 74 47 67
— 30 — — — — — — 30

23.5 18.2 22.1 24.7 25.1 27.1 28.0 18.2 23. 4
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2 KBS OKE MR
(11) A % U =K
(1) BEb= KOS RA
@ JFUK

£ 7K i A H H28. 10. 4 24 H H28. 10. 4
,3-Y 7 v o 7 a2 (DD (mg/L)| <0.0002 5 K (mg/L)| <0.0001
2,2-DPAC % Z K v ) (mg/L)| <0.0002 =4 = 2 (mg/L)| <0.00001
2,4-D (2, 4-PA) (mg/L)| <0.0001 v - > (mg/L)| <0.00001
EPN (mg/L)| <0.00001 |=§ ¥ 7 (mg/L)| <0.0001
MCPA (mg/L)| <0.00005 v ¥ v (mg/L)| <0.0001
7 D o 7 2 (mg/L)|  <0.0001 4 g JL (mg/L) [€0. 000005
7 + 4 ES — k (mg/L)| <0.00005 7 F m F A > (MEP) (mg/L)| <0.0001
7 k 7 D > (mg/L)| <0.0001 7 (mg/L)| <0.0001
7 = =t N 2 (mg/L)| <0.00001 7 O F F v (mg/L)| <0.00005
7 > V4 =4 — JL (mg/L)| <0.0001 4 — bk (PAP) (mg/L)[ <0.00005
4 Y X % F  F v (mg/L)| <0.00005 7 > (mg/L)| <0.0001
4 v 7 = v & A (mg/L)| <0.00001 7 (mg/L)| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 7 3 (mg/L)| <0.0001
A4 Y 7 v F F F v (IPD) (mg/L)| <0.0001 7 7 (mg/L)| <0.0001
A4 7 @ N v R A (IBP) (mg/L)| <0.0001 - (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 -7 (mg/L)| <0.0001
-~ 2 7 w #H N 7 (mg/L)| <0.0001 - (mg/L)| <0.0001
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 -7  (mg/L)[ <0.0001
= N 7 = v 7 um v 7 A (ng/L)| <0.0001 A (mg/L)| <0.0001
JL ) (mg/L)| <0.00001 7 > (mg/L) | <0.0001
TURALT 7o (R r) (mg/L)|  <0.0001 ~ (mg/L)| <0.0002
F % ¥ Y 7 v A K v (mg/L)| <0.0001 ~ (mg/L)| <0.0001
% v v 8 (fF B 8 ) (mg/L)| <0.0001 ~ (mg/L)| <0.0001
H 7 = v A k m — J (mg/L)| <0.00005 ~ (mg/L)| <0.0001
v N Y o (NACO) (mg/L)| <0.0001 ~ " (mg/L)|  <0.0001
Hooov  F w3 F (mg/L)[ <0.0001 Ry 75 Y (R_Rz2avr) (mg/L)| <0.0001
i) JL Zi 7 7 > (mg/L)| <0.00005 ~ (mg/L)| <0.0001
X /7 5 2 v (ACN) (mg/L)| <0.00005 ~ (mg/L)| <0.0001
X ¥ v o > (mg/L)| <0.0001 A (mg/L)| <0.0001
v 3 JL =4 > (mg/L)| <0.0001 A (mg/L)| <0.0001
7 m )=k 7 = > (CNP) (mg/L)| <0.00001 A (mg/L)| <0.0001
7/ v g v U K A (mg/L)| <0.00001 A (mg/L)| <0.00001
s/ m w % w = L (TPN) (mg/L)| <0.0001 A (mg/L)| <0.0001
v 7 + v > (mg/L)| <0.00001 A (mg/L)| <0.0001
v v = v (DCMU)  (mg/L) [ <0.0001 A (mg/L)| <0.0001
Y 7 w X = 5 (DBN) (mg/L)| <0.0001 E (mg/L)| <0.00005
Y 7 w A AR Z  (DDVP) (mg/L)| <0.00005
VANE R (= TFNTFF A ) (mg/L)]| <0.00001
v F %+ = JL (mg/L)| <0.00005
v ~ v N (CAT) (mg/L)| <0.00001
oA E R U ¥ (mg/L)| <0.0001
v A k = — k (mg/L)[ <0.0001
v A bk ) > (mg/L)| <0.0001
Y A F < L — } (mg/L)| <0.00001
vl A 7 ¥ / v (mg/L)| <0.00001
V4 A A = v~ (mg/L)| <0.0001
¥ v 7 2 (mg/L)| <0.0001
7 7+ v 7 Ju 7 (mg/L)| <0.0001
F 4 7 7 Fx — b A F U (mg/L)| <0.0001
F o X 7 (mg/L)| <0.0001
F N 7 H o 7 (MBPMC) (mg/L)| <0.0001
K y V4 =t =4 JL (mg/L)| <0.00005
U Z w A A& v (DEP) (mg/L)| <0.00005
KUY 7 Z Y — JL (mg/L)| <0.0001
U7 v 7 U v (mg/L)| <0.0001




£ 7K i A H H28. 10. 4 £ 7K i A H H28. 10. 4
EPN 7+ ¥ v > (mg/L)| <0.00001 N Y AT m A F L (mg/L)| <0.0001
A4 Y X% ¥ F 4 v F X Y v (mg/L)] <£0.00005 A * ¥ Jb (mg/L)| <0.0002
A4 Y 7 = vk A F % Y v (ng/L)][<0.000005 v Z B AAFALAEFY L (mg/L)| <0.0001
= v F 2 A 7 = — + (mg/L)| <0.0001 F ® ¥ Y 7 Y v (mg/L)]| <£0.0001
C N P - 7 3 /7 & (mg/1)][£0.000001 s v A M ¥ ¥ = ) (mg/L)| <0.0001
J v )b ¥ U K A A F YV~ (mg/L)]| <0.00001 V7 ENL-2-F FFF )b (mg/L)| <0.0001
A4 7 Y J v A F Y v (mg/L)] <0.00001 = + m 7 = v (NIP) (mg/L)| <0.0001
7 xz=bturF A4 F Y (mg/L)| <0.00005 - = A v > (mg/L)| <0.0001
MPP 2 L A ¥ ¥ K (mg/L)| <0.00005
MPP 2 JL 2 > (mg/L)| <0.00005
MPP %+ ¥ v > (mg/L)| <0.00005
MPP #+ &% Y » 2L A % ¥ F (mg/L)| <0.00005
MPP 4 % Y ¥ Z Jb 3 v (mg/L)| <0.00005
7 Z I K A A F Y v (mg/L)| <0.0001
~ 7 F A& v A& X v v (mg/L)] <£0.0001
7 vy X 7 Y F (mg/L)| <0.0001
A4 2 ¥ 7 wv ZF U K (mg/L)| <£0.0001
> 7 = F v — 5 (mg/L)| <0.0001
A4 ~ Y Z 7 v (mg/L)| <0.0001
= K ¥ ¥ 2 A 7 um v (mg/L)| <0.0001
= + X v H = F (mg/L)| <0.0001
+ X ¥ 7 X A (mg/L)| <0.0001
Vi o F 7 = ¥ v (mg/L)| <0.0001
7 o ) B U gk A X F )L (mg/L)| <0.0001
Y 7 = J =a F ¥ — L (mg/L)| <0.0001
Y 7 v =3 F Y — b (mg/L)| <0.0001
v A a3 F v — (mg/L)| <0.0001
¥ g5 7 A F 7 = v (mg/L)| <0.0001
F 7 7 ua  F K (mg/L)[ <0.0001
F T A % ¥ A (mg/L)| <0.0001
¥ 7 JL VA N K (mg/L)[ <0.0001
F b+ 7 =2 F Y — JL (mg/L)| <£0.0001
> 7 7 = 7 ¥ K (mg/L)| <0.0001
KU % %9 % v 7 = F o (mg/L)| <0.0001
KU 7 I v — L (mg/L)| <0.0001
Ny v 7 T Y — b (mg/L)| <0.0001
I Yy A7 a vy F b (mg/L)] <0.0001
Yy I &k A A F L (mg/L)| <£0.0001
4 7 A b = Jv (mg/L)| <0.0001
7 7 Y & v F (mg/L)| <0.0001
i s by ) K (mg/L)[ <0.0001
7 Y % ¥ 2 F v v v (mg/L)| <0.0001
A - = D %+ v (mg/L)| <0.0001
2 = =4 B 7 (mg/L)| <0.0001
v a o =1 > (mg/L)| <0.0001
T = N 7 7 —  JL (mg/L)| <0.0001
v 7 v ks A A F )b (mg/L)| <£0.0001
N AV 7 o v A F gL (mg/L)| <0.0001
v 7 = ) v 7  Z (mg/L)| <0.0001
Yy 7 um ¥ v 7 = v (mg/L)| <0.0001
7 7 ¥ =z g 7 v v (mng/L)| <0.0001
7 I S = = U (mg/L)| <0.0001
~N R ) R (SAP) (mg/L)[ <0.0001
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2

JKIE

(11) A& U —¥KE
(1) BELS K OV E A

gk DK E A

@ #K
£ 7K F H H H28.4.5  H28.5.10 H28.6.7 | H28.7.5 | H28.8.2
X 22 i & & & &
= iR (‘C) 10.0 21.4 19.8 20.7 25.6
7K =) (‘C) 17.6 18.0 17.8 18.4 18.8
— LIk il (f# /mL) 0 0 0 0 0
X W (MPN/100mL) 0 0 0 0 0
BRI AEETZEONLEDY (mg/L) — — — — —
K B K Y F O b A W (mg/L) — — — — —
L v Kk Y E O AWY (mg/L) — — — — —
m K O o b A& W (mg/L) — — — — —
t # K X 2 o A W (mg/L) — — — — —
A A - N (mg/L) — — — — —
i fid [0 15 = % (mg/L) <0. 004 — — <0. 004 —
T A A A R T (mg/L) — — — — —
HHREEELOCEHMBESE R (mg/L) 0. 32 — — 0.32 -
7 v F K O ZF 0 b AW (mg/L) <0. 08 — — <0. 08 —
U #E K X EF 0 L A& W (mg/L) — — — — —
| # e % ES (mg/L) — — — — —
1, 4- D 7 X A N (mg/L) — — — — —
vZA-l,2-Y /7 mvuxxF Ly g
N7 v RA-1,2-V /o F L (mg/L) — — - — —
A = = A v N (mg/L) - - - - -
F b 9 /7 wowp =x F L v (mg/L) - - — — —
YV /7 B B X F L v (mg/L) - - — — —
~ N + N (mg/L) — — — — —
iy #= fi (mg/L) <0. 06 — — <0. 06 —
7 = = i3 1S (mg/L) - - - - -
4 =i (=] N JL N (mg/L) — — — — —
¥ 7 = & i3 1 (mg/L) — — - - -
Y 7 m & v v oua A K v (mg/L) — — — — -
B F 1 (mg/L) — - — — —
Woor U N m A B (mg/L) - - - - -
k ) 7 = =S (3 (mg/L) — — - - -
7 m E Y 7 v owu XK v (mg/L) - - - - -
=7 o = N JL A (mg/L) — — — — —
s v A T N F N (mg/L) — — — — —
W o k™ o A W (mg/L) <0. 005 — — <0. 005 —
TNI=U AR ZEDONLEY (mg/L) - - - — —
% K O 2 o b A& W (mg/L) <0.01 — — <0.01 —
i Kk X = o v A& W (mg/L) — — — — —
F r U AN NEONEY (mg/L) — — — — —
~ v H vk E O E W (mg/L) <0. 005 — — <0. 005 —
5oy 1k L) 4 7 N (mg/L) 4.7 — — 4.6 —
HIT T L, SR N () (mg/L) 100 — — 110 -
7 it 7% Eé? L2 (mg/L) — — — — —
oA A v /R om W A (mg/L) - - - — —
b4 = *+ A 2 v (mg/L) - — — — _
2- A F v A4 VKRV R F — (mg/L) — — — — —
¥ A4 & v R om m A (mg/L) - - - — —
7 - / — v ¥H (mg/L) — — — — —
H Y (&A% K FE (ToC) © &) (mg/L) 0. 1 0. 1 0. 1 0. 1 0. 1
D H i) 6.7 6.6 7.0 7.0 6.9
IS el BELRL BEALL HEARL RBESRL
B = Bl BERL ORBELRL OBEL HEALL
[ Ji3 JE3 <0.5 <0.5 <0.5 <0.5 <0.5
) 3 (%) 0. 1 0.1 0.1 0. 1 0. 1
23 B by S (mg/L) 0.3 0.3 0.3 0.3 0.3
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H28. 10. 4 8 6 | H29.1.10 H29. 3. 8 /)N Sy
i & i —
23.7 .8 .9 4.0 3.2 .6 3.2 14.7
18.0 4 .2 17.1 17.2 17.1 17.8
0 0 0 0 0 0 0
0 0 0 0 0 0 0
<0. 0003 <0. 0003
<0. 00005 — — — — — | <0.00005
<0. 001 — — — — — <0. 001
<0.001 — — — — — <0.001
<0.001 — — — — — <0.001
<0. 005 — — — — — <0. 005
<0. 004 — — <0. 004 — <0. 004 <0. 004
<0. 001 — — — — — <0. 001
0.34 — — 0. 30 — 0. 30 0.32
<0. 08 — — <0. 08 — <0. 08 <0. 08
0. 04 — — — — — 0. 04
<0. 0001 — — — — — <0.0001
<0. 001 — — — — — <0. 001
<0. 0002 — — — — —| <0.0002
<0. 0001 — — — — — | <0.0001
<0. 0001 — — — — — | <0.0001
<0. 0001 — — — — — | <0.0001
<0. 0001 — — — — — | <0.0001
<0. 06 — — <0. 06 — <0. 06 <0. 06
<0. 002 — — — — — <0. 002
<0. 0001 — — — — — | <0.0001
<0. 002 — — — — — <0. 002
<0. 0001 — — — — — | <0.0001
<0.001 — — — — — <0.001
<0. 0001 — — — — — | <0.0001
<0. 002 — — — — — <0. 002
<0. 0001 — — — — — | <0.0001
<0. 0001 — — — — — | <0.0001
<0. 002 — — — — — <0. 002
<0. 005 — — <0. 005 — <0. 005 <0. 005
<0.01 — — — — — <0.01
<0.01 — — <0.01 — <0.01 <0.01
<0.01 — — — — — <0.01
8.1 — — — — — 8.1
<0. 005 — — <0. 005 — <0. 005 <0. 005
4.2 — — 4.5 — 4.2 4.5
85 — — 120 — 85 100
185 — — — — — 185
<0.01 — — — — — <0.01
<0. 000001 — — — — — | <0. 000001
<0. 000001 — — — — — | <0. 000001
<0. 005 — — — — — <0. 005
<0. 0005 — — — — — | <0.0005
0.1 0.1 0.1 0.1 0.1 0.1 0.1
6.8 6.9 6.9 6.9 7.0 6.5 6.8
BERL L L BERL HERL —| BERL
BERL L L BERL HERL WL
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
0. 1 0. 1 0. 1 0. 1 <0. 1 <0. 1 <0. 1
0.3 0.3 0.4 0.3 0.3 0.3 0.3
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2 KEHERE DKL
(11) 4 % U =K
(1) Bb5 K OV R A
@ K

£ 7K F H H H28.4.5  H28.5.10 H28.6.7 | H28.7.5 | H28.8.2
T FE R DT ONEW (mg/L) - - - - -
7 7 v K N E O LA W (mg/L) - - - - -
= v FH NV E®ZE DOIEYW (mg/L) — — — — —
L,2- ¥ 7 wvw wu =T X v (mg/L) — — — — —
~ L - N (mg/L) — — — — —
TENLEEY (- F )L~ F ) (mg/L) — — — — —
i H F# i (mg/L) - - - - -
Y 7 v w7 kM= KU L (mg/L) — — — — —
ok 7 o7 — (mg/L) - - - - -
2 3K G| — — — — —
il At R 1S (mg/L) — — — — —
LL1- YU 7 B mwr T X v (mg/L) — — — — —
A F ) —-t- 7 F )L = — 5 )L (MTBE) (mg/L) — - - - -
B 5 #® E (T O N ) ¢! ¢! ¢! <1 <1
BaEt (7 47 U 74 %) — — — — —
1€ & g = gl (f# /mL) 2 2 3 7 4
L1- ¥ Z/ mw wmw = F L v (mg/L) — — — — —
23 = Pk i il (MPN/100mL) — — — — —
£ Wb B FEE K & (mg/L) — — — — —
b 17 i3 3 (mg/L) - - - - -
v E R S = (MPN/L) - - - - -
L S S . (MPN/L) - - - - -
X % . (MPN/100mL) 0 0 0 0 0
#F O M E B R (MPN/100mL) — — — — —
T oy T = F7 W % # (mg/L) — — — — —
il Ju > 7 VA (mg/L) — - - - -
~ 7 >z > 7 VN (mg/L) — — — — —
fitt iz A 7 N (mg/L) 75 — — 72 —
AN = I S - A - (mg/L) — — — — —
#a 7 Ju ol Y 3 (mg/L) — — — — —
B = = = R (mS/m) 25. 6 22.9 24.3 24.3 24. 4
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H28.9.6 |« H28.10.4 | H28.11.8 | H28.12.6  H29.1.10 @ H29.2.7 H29.3.8 TN /) LY
— <0. 0002 — — — — — — <0. 0002
— <0. 0002 — — — — — — <0. 0002
— <0.001 — — — — — — <0.001
— <0. 0001 — — — — — — <0. 0001
— <0. 0001 — — — — — — <0. 0001
— <0. 001 — — — — — — <0. 001
— <0. 06 — — — — — — <0. 06
— <0. 001 — — — — — — <0. 001
— <0. 001 — — — — — — <0. 001
— <0. 001 — — — — — — <0. 001
— 12 — — — — — — 12
— <0. 0001 — — — — — — <0. 0001
— <0. 0001 — — — — — — <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1
— -1.7 — — — — — — -1.7
49 9 2 8 7 2 49 1 8
— <0. 0001 — — — — — — <0. 0001
— 0 — — — — — — 0
0 0 0 0 0 0 0 0 0
— 22 — — — — — — 22
— 5.5 — — — — — — 5.5
— 47 — — 73 — 75 47 67
— 45 — — — — — — 45
24.0 21.5 24.5 27.7 27.4 29. 2 30.0 21.5 25.5
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2 KBS OKE MR
(11) A % U =K
(1) BEb= KOS RA
@ K

£ 7K i A H H28. 10. 4 24 H H28. 10. 4
,3-Y 7 v o 7 a2 (DD (mg/L)| <0.0002 5 K (mg/L)| <0.0001
2,2-DPAC % Z K v ) (mg/L)| <0.0002 =4 = 2 (mg/L)| <0.00001
2,4-D (2, 4-PA) (mg/L)| <0.0001 v - > (mg/L)| <0.00001
EPN (mg/L)| <0.00001 |=§ ¥ 7 (mg/L)| <0.0001
MCPA (mg/L)| <0.00005 v ¥ v (mg/L)| <0.0001
7 D o 7 2 (mg/L)|  <0.0001 4 g JL (mg/L) [€0. 000005
7 + 4 ES — k (mg/L)| <0.00005 7 F m F A > (MEP) (mg/L)| <0.0001
7 k 7 D > (mg/L)| <0.0001 7 (mg/L)| <0.0001
7 = =t N 2 (mg/L)| <0.00001 7 O F F v (mg/L)| <0.00005
7 > V4 =4 — JL (mg/L)| <0.0001 4 — bk (PAP) (mg/L)[ <0.00005
4 Y X % F  F v (mg/L)| <0.00005 7 > (mg/L)| <0.0001
4 v 7 = v & A (mg/L)| <0.00001 7 (mg/L)| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 7 3 (mg/L)| <0.0001
A4 Y 7 v F F F v (IPD) (mg/L)| <0.0001 7 7 (mg/L)| <0.0001
A4 7 @ N v R A (IBP) (mg/L)| <0.0001 - (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 -7 (mg/L)| <0.0001
-~ 2 7 w #H N 7 (mg/L)| <0.0001 - (mg/L)| <0.0001
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 -7  (mg/L)[ <0.0001
= N 7 = v 7 um v 7 A (ng/L)| <0.0001 A (mg/L)| <0.0001
JL ) (mg/L)| <0.00001 7 > (mg/L) | <0.0001
TURALT 7o (R r) (mg/L)|  <0.0001 ~ (mg/L)| <0.0002
F % ¥ Y 7 v A K v (mg/L)| <0.0001 ~ (mg/L)| <0.0001
% v v 8 (fF B 8 ) (mg/L)| <0.0001 ~ (mg/L)| <0.0001
H 7 = v A k m — J (mg/L)| <0.00005 ~ (mg/L)| <0.0001
v N Y o (NACO) (mg/L)| <0.0001 ~ " (mg/L)|  <0.0001
Hooov  F w3 F (mg/L)[ <0.0001 Ry 75 Y (R_Rz2avr) (mg/L)| <0.0001
i) JL Zi 7 7 > (mg/L)| <0.00005 ~ (mg/L)| <0.0001
X /7 5 2 v (ACN) (mg/L)| <0.00005 ~ (mg/L)| <0.0001
X ¥ v o > (mg/L)| <0.0001 A (mg/L)| <0.0001
v 3 JL =4 > (mg/L)| <0.0001 A (mg/L)| <0.0001
7 m )=k 7 = > (CNP) (mg/L)| <0.00001 A (mg/L)| <0.0001
7/ v g v U K A (mg/L)| <0.00001 A (mg/L)| <0.00001
s/ m w % w = L (TPN) (mg/L)| <0.0001 A (mg/L)| <0.0001
v 7 + v > (mg/L)| <0.00001 A (mg/L)| <0.0001
v v = v (DCMU)  (mg/L) [ <0.0001 A (mg/L)| <0.0001
Y 7 w X = 5 (DBN) (mg/L)| <0.0001 E (mg/L)| <0.00005
Y 7 w A AR Z  (DDVP) (mg/L)| <0.00005
VANE R (= TFNTFF A ) (mg/L)]| <0.00001
v F %+ = JL (mg/L)| <0.00005
v ~ v N (CAT) (mg/L)| <0.00001
oA E R U ¥ (mg/L)| <0.0001
v A k = — k (mg/L)[ <0.0001
v A bk ) > (mg/L)| <0.0001
Y A F < L — } (mg/L)| <0.00001
vl A 7 ¥ / v (mg/L)| <0.00001
V4 A A = v~ (mg/L)| <0.0001
¥ v 7 2 (mg/L)| <0.0001
7 7+ v 7 Ju 7 (mg/L)| <0.0001
F 4 7 7 Fx — b A F U (mg/L)| <0.0001
F o X 7 (mg/L)| <0.0001
F N 7 H o 7 (MBPMC) (mg/L)| <0.0001
K y V4 =t =4 JL (mg/L)| <0.00005
U Z w A A& v (DEP) (mg/L)| <0.00005
KUY 7 Z Y — JL (mg/L)| <0.0001
U7 v 7 U v (mg/L)| <0.0001




£ 7K i A H H28. 10. 4 £ 7K i A H H28. 10. 4
EPN 7+ ¥ v > (mg/L)| <0.00001 N Y AT m A F L (mg/L)| <0.0001
A4 Y X% ¥ F 4 v F X Y v (mg/L)] <£0.00005 A * ¥ Jb (mg/L)| <0.0002
A4 Y 7 = vk A F % Y v (ng/L)][<0.000005 v Z B AAFALAEFY L (mg/L)| <0.0001
= v F 2 A 7 = — + (mg/L)| <0.0001 F ® ¥ Y 7 Y v (mg/L)]| <£0.0001
C N P - 7 3 /7 & (mg/1)][£0.000001 s v A M ¥ ¥ = ) (mg/L)| <0.0001
J v )b ¥ U K A A F YV~ (mg/L)]| <0.00001 V7 ENL-2-F FFF )b (mg/L)| <0.0001
A4 7 Y J v A F Y v (mg/L)] <0.00001 = + m 7 = v (NIP) (mg/L)| <0.0001
7 xz=bturF A4 F Y (mg/L)| <0.00005 - = A v > (mg/L)| <0.0001
MPP 2 L A ¥ ¥ K (mg/L)| <0.00005
MPP 2 JL 2 > (mg/L)| <0.00005
MPP %+ ¥ v > (mg/L)| <0.00005
MPP #+ &% Y » 2L A % ¥ F (mg/L)| <0.00005
MPP 4 % Y ¥ Z Jb 3 v (mg/L)| <0.00005
7 Z I K A A F Y v (mg/L)| <0.0001
~ 7 F A& v A& X v v (mg/L)] <£0.0001
7 vy X 7 Y F (mg/L)| <0.0001
A4 2 ¥ 7 wv ZF U K (mg/L)| <£0.0001
> 7 = F v — 5 (mg/L)| <0.0001
A4 ~ Y Z 7 v (mg/L)| <0.0001
= K ¥ ¥ 2 A 7 um v (mg/L)| <0.0001
= + X v H = F (mg/L)| <0.0001
+ X ¥ 7 X A (mg/L)| <0.0001
Vi o F 7 = ¥ v (mg/L)| <0.0001
7 o ) B U gk A X F )L (mg/L)| <0.0001
Y 7 = J =a F ¥ — L (mg/L)| <0.0001
Y 7 v =3 F Y — b (mg/L)| <0.0001
v A a3 F v — (mg/L)| <0.0001
¥ g5 7 A F 7 = v (mg/L)| <0.0001
F 7 7 ua  F K (mg/L)[ <0.0001
F T A % ¥ A (mg/L)| <0.0001
¥ 7 JL VA N K (mg/L)[ <0.0001
F b+ 7 =2 F Y — JL (mg/L)| <£0.0001
> 7 7 = 7 ¥ K (mg/L)| <0.0001
KU % %9 % v 7 = F o (mg/L)| <0.0001
KU 7 I v — L (mg/L)| <0.0001
Ny v 7 T Y — b (mg/L)| <0.0001
I Yy A7 a vy F b (mg/L)] <0.0001
Yy I &k A A F L (mg/L)| <£0.0001
4 7 A b = Jv (mg/L)| <0.0001
7 7 Y & v F (mg/L)| <0.0001
i s by ) K (mg/L)[ <0.0001
7 Y % ¥ 2 F v v v (mg/L)| <0.0001
A - = D %+ v (mg/L)| <0.0001
2 = =4 B 7 (mg/L)| <0.0001
v a o =1 > (mg/L)| <0.0001
T = N 7 7 —  JL (mg/L)| <0.0001
v 7 v ks A A F )b (mg/L)| <£0.0001
N AV 7 o v A F gL (mg/L)| <0.0001
v 7 = ) v 7  Z (mg/L)| <0.0001
Yy 7 um ¥ v 7 = v (mg/L)| <0.0001
7 7 ¥ =z g 7 v v (mng/L)| <0.0001
7 I S = = U (mg/L)| <0.0001
~N R ) R (SAP) (mg/L)[ <0.0001
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